Transfers Report

This report contains the transfers results.

Contest Name

Ward 17 Springburn-Robroyston

Valid Votes

Positions to be Filled

Quota

6,572 4

1,315

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Graham CAMPBELL	Scottish National Party (SNP)	1,323
Christina CANNON	Scottish National Party (SNP)	1,013
Anthony CARROLL	Scottish Green Party	226
Robb MACLEAN	UKIP	105
Paul MCCABE	Scottish National Party (SNP)	494
Martin MCELROY	Glasgow Labour	2,080
Euan MCHARDY	Scottish Conservative and Unionist	681
Aileen MCKENZIE	Glasgow Labour	529
Dave SEMPLE	Scottish Trade Unionist and Socialist Coalition	36
Robert Alexander SYKES	Scottish Liberal Democrats	85
	Total	6,572

Candidate Graham CAMPBELL Elected with 1,323 votes, being in excess of the quota of 1,315 Candidate Martin MCELROY Elected with 2,080 votes, being in excess of the quota of 1,315

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Martin MCELROY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham CAMPBELL	0	0.00000	0.00000
Transfer to Christina CANNON	67	0.36778	24.64126
Transfer to Anthony CARROLL	43	0.36778	15.81454
Transfer to Robb MACLEAN	21	0.36778	7.72338
Transfer to Paul MCCABE	22	0.36778	8.09116
Transfer to Martin MCELROY	0	0.00000	0.00000
Transfer to Euan MCHARDY	78	0.36778	28.68684
Transfer to Aileen MCKENZIE	1,650	0.36778	606.83700
Transfer to Dave SEMPLE	4	0.36778	1.47112
Transfer to Robert Alexander SYKES	14	0.36778	5.14892
Value of non-transferable ballot papers			66.58578
	Total		765.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Graham CAMPBELL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham CAMPBELL	0	0.00000	0.00000
Transfer to Christina CANNON	914	0.00604	5.52056
Transfer to Anthony CARROLL	47	0.00604	0.28388
Transfer to Robb MACLEAN	7	0.00604	0.04228
Transfer to Paul MCCABE	276	0.00604	1.66704
Transfer to Martin MCELROY	0	0.00000	0.00000
Transfer to Euan MCHARDY	3	0.00604	0.01812
Transfer to Aileen MCKENZIE	19	0.00604	0.11476
Transfer to Dave SEMPLE	2	0.00604	0.01208
Transfer to Robert Alexander SYKES	2	0.00604	0.01208
Value of non-transferable ballot papers			0.32920
	Total		8.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Dave SEMPLE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham CAMPBELL	0	0.00000	0.00000
Transfer to Christina CANNON	6	1.00000	6.00000
Transfer to Anthony CARROLL	13	1.00000	13.00000
Transfer to Anthony CARROLL	1	0.00604	0.00604
Transfer to Robb MACLEAN	2	1.00000	2.00000
Transfer to Paul MCCABE	1	1.00000	1.00000
Transfer to Paul MCCABE	1	0.36778	0.36778
Transfer to Martin MCELROY	0	0.00000	0.00000
Transfer to Euan MCHARDY	3	1.00000	3.00000
Transfer to Aileen MCKENZIE	5	1.00000	5.00000
Transfer to Robert Alexander SYKES	1	1.00000	1.00000
Value of non-transferable ballot papers			6.10938
	Total		37.48320

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Robert Alexander SYKES

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham CAMPBELL	0	0.00000	0.00000
Transfer to Christina CANNON	1	0.36778	0.36778
Transfer to Christina CANNON	9	1.00000	9.00000
Transfer to Anthony CARROLL	12	1.00000	12.00000
Transfer to Anthony CARROLL	3	0.36778	1.10334
Transfer to Robb MACLEAN	2	0.36778	0.73556
Transfer to Robb MACLEAN	5	1.00000	5.00000
Transfer to Paul MCCABE	3	1.00000	3.00000
Transfer to Martin MCELROY	0	0.00000	0.00000
Transfer to Euan MCHARDY	14	1.00000	14.00000
Transfer to Euan MCHARDY	2	0.36778	0.73556
Transfer to Aileen MCKENZIE	4	0.36778	1.47112
Transfer to Aileen MCKENZIE	25	1.00000	25.00000
Transfer to Dave SEMPLE	0	0.00000	0.00000
Value of non-transferable ballot papers			18.74764
	Total		91.16100

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Robb MACLEAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham CAMPBELL	0	0.00000	0.00000
Transfer to Christina CANNON	1	0.00604	0.00604
Transfer to Christina CANNON	2	0.36778	0.73556
Transfer to Anthony CARROLL	3	0.36778	1.10334
Transfer to Anthony CARROLL	1	0.00604	0.00604
Transfer to Anthony CARROLL	18	1.00000	18.00000
Transfer to Paul MCCABE	5	1.00000	5.00000
Transfer to Paul MCCABE	2	0.00604	0.01208
Transfer to Paul MCCABE	1	0.36778	0.36778
Transfer to Martin MCELROY	0	0.00000	0.00000
Transfer to Euan MCHARDY	41	1.00000	41.00000
Transfer to Euan MCHARDY	3	0.36778	1.10334
Transfer to Aileen MCKENZIE	7	0.36778	2.57446
Transfer to Aileen MCKENZIE	1	0.00604	0.00604
Transfer to Aileen MCKENZIE	20	1.00000	20.00000
Transfer to Dave SEMPLE	0	0.00000	0.00000
Transfer to Robert Alexander SYKES	0	0.00000	0.00000
Value of non-transferable ballot papers			30.58654
	Total		120.50122

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Anthony CARROLL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham CAMPBELL	0	0.00000	0.00000
Transfer to Christina CANNON	20	0.00604	0.12080
Transfer to Christina CANNON	7	0.36778	2.57446
Transfer to Christina CANNON	99	1.00000	99.00000
Transfer to Robb MACLEAN	0	0.00000	0.00000
Transfer to Paul MCCABE	21	1.00000	21.00000
Transfer to Paul MCCABE	11	0.00604	0.06644
Transfer to Martin MCELROY	0	0.00000	0.00000
Transfer to Euan MCHARDY	3	0.36778	1.10334
Transfer to Euan MCHARDY	20	1.00000	20.00000
Transfer to Aileen MCKENZIE	41	1.00000	41.00000
Transfer to Aileen MCKENZIE	17	0.36778	6.25226
Transfer to Aileen MCKENZIE	2	0.00604	0.01208
Transfer to Dave SEMPLE	0	0.00000	0.00000
Transfer to Robert Alexander SYKES	0	0.00000	0.00000
Value of non-transferable ballot papers			96.18780
	Total		287.31718

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Paul MCCABE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham CAMPBELL	0	0.00000	0.00000
Transfer to Christina CANNON	263	0.00604	1.58852
Transfer to Christina CANNON	9	0.36778	3.31002
Transfer to Christina CANNON	454	1.00000	454.00000
Transfer to Anthony CARROLL	0	0.00000	0.00000
Transfer to Robb MACLEAN	0	0.00000	0.00000
Transfer to Martin MCELROY	0	0.00000	0.00000
Transfer to Euan MCHARDY	6	1.00000	6.00000
Transfer to Euan MCHARDY	1	0.36778	0.36778
Transfer to Aileen MCKENZIE	8	0.36778	2.94224
Transfer to Aileen MCKENZIE	4	0.00604	0.02416
Transfer to Aileen MCKENZIE	16	1.00000	16.00000
Transfer to Dave SEMPLE	0	0.00000	0.00000
Transfer to Robert Alexander SYKES	0	0.00000	0.00000
Value of non-transferable ballot papers			50.33956
	Total		534.57228

Transfers Report

This report contains the transfers results.

Stage 9 - Surplus of Christina CANNON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham CAMPBELL	0	0.00000	0.00000
Transfer to Christina CANNON	0	0.00000	0.00000
Transfer to Anthony CARROLL	0	0.00000	0.00000
Transfer to Robb MACLEAN	0	0.00000	0.00000
Transfer to Paul MCCABE	0	0.00000	0.00000
Transfer to Martin MCELROY	0	0.00000	0.00000
Transfer to Euan MCHARDY	49	0.18820	9.22180
Transfer to Euan MCHARDY	24	0.00113	0.02712
Transfer to Euan MCHARDY	2	0.06921	0.13842
Transfer to Aileen MCKENZIE	43	0.06921	2.97603
Transfer to Aileen MCKENZIE	239	0.00113	0.27007
Transfer to Aileen MCKENZIE	366	0.18820	68.88120
Transfer to Dave SEMPLE	0	0.00000	0.00000
Transfer to Robert Alexander SYKES	0	0.00000	0.00000
Value of non-transferable ballot papers			223.35036
	Total		304.86500